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Question 1 (4 pts)
A 50 Ohm T.L. is terminated in a load with impedance (100 + j 50) Ohm. Find reflection
coefficient and VSWR
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Question 2 (4 pts)

A slotted line with 50 Ohm characteristic impedance is terminated with an unknowm load. It was

found that VSWR = 3, d 3, distance between the two minimas = 30 cm, and first minima at 12 cm
Q>\/ from load. Compute load impédance
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Question 3 (6 pts)
Giyen % =0.5 exp(j 60), and)‘ = 24 cm. find the location of first minima and maxi__ma
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Use a quarter wavelength transformer to match a load of 16 Ohm to a T.L. of 100 Ohm
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Question 6 (10 pts)
A load of impedance (25 — j 50) Ohm is connected to a 50 Ohm T.L. Use a short circuit stub to
perform matching using the Smith Chart
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Question 7 (2 pts) &

29
§ A 1.05 GHz generator' with vg(t)=10 sin(wt + 30), with @@ﬁﬁ&%ls connected by a
T.L-with 50 Ohm imhpedance and terminated in a load of (100 +j 50) Ohm. The phase velocity is
0.7 c. Find v(z,t) and i(z g__t) on line e
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Use the incident voltage and current waves onaT.L. to ﬁnd an expression for the 1nc1dent power /
on the T.L.
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The Complete Smith Chart
_ Black"Magic Design
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